

$$\circ \circ \circ \circ \text{ simple } \subset \frac{1 \in \mathbb{F}_C}{\mathbb{F}_C | 1 = 0} \subset \mathbb{F}_C \text{ pos}$$

$$\mathbb{F}_C = \frac{\vee \in \mathbb{F}_C}{\vee \circ = 0} = \left\{ \begin{array}{l} \mathbb{F}_C = \frac{\vee \in \mathbb{F}_C}{\vee \circ = 0} \\ \mathbb{F}_C = \frac{\vee \in \mathbb{F}_C}{\vee \circ = 0} \end{array} \right.$$

$$\overset{\wedge}{\mathbb{F}_C} = \overset{\wedge}{\mathbb{F}_C} = \frac{\#1 \mathbb{F}_C}{1 \in \mathbb{F}_C} = \left\{ \begin{array}{l} \overset{\wedge}{\mathbb{F}_C} = \overset{\wedge}{\mathbb{F}_C} = \frac{-1 \mathbb{F}_C}{1 \in \mathbb{F}_C} \\ \overset{\wedge}{\mathbb{F}_C} = \overset{\vee}{\mathbb{F}_C} = \frac{1 \mathbb{F}_C}{1 \in \mathbb{F}_C} \end{array} \right.$$

$$\overset{\wedge}{\mathbb{F}_C} = \frac{\#1 \mathbb{F}_C}{1 \in \mathbb{F}_C} = \left\{ \begin{array}{l} \overset{\wedge}{\mathbb{F}_C} = \frac{-1 \mathbb{F}_C}{1 \in \mathbb{F}_C} \\ \overset{\vee}{\mathbb{F}_C} = \frac{1 \mathbb{F}_C}{1 \in \mathbb{F}_C} \end{array} \right.$$

$$\overset{\wedge}{\mathbb{F}_C} = \frac{\#1 \mathbb{F}_C}{1 \in \mathbb{F}_C} = \left\{ \begin{array}{l} \overset{\wedge}{\mathbb{F}_C} = \frac{-1 \mathbb{F}_C}{1 \in \mathbb{F}_C} \\ \overset{\vee}{\mathbb{F}_C} = \frac{1 \mathbb{F}_C}{1 \in \mathbb{F}_C} \end{array} \right.$$

$$\overset{\wedge}{\mathbb{F}_C} = \frac{\#1 \mathbb{F}_C}{\langle \circ \rangle \not\approx 1 \in \mathbb{F}_C} = \left\{ \begin{array}{l} \overset{\wedge}{\mathbb{F}_C} = \frac{-1 \mathbb{F}_C}{\langle \circ \rangle \not\approx 1 \in \mathbb{F}_C} \\ \overset{\vee}{\mathbb{F}_C} = \frac{1 \mathbb{F}_C}{\langle \circ \rangle \not\approx 1 \in \mathbb{F}_C} \end{array} \right.$$

$$\overset{\wedge}{\mathbb{F}_C} = \frac{\#1 \mathbb{F}_C}{\langle \circ \rangle \not\approx 1 \in \mathbb{F}_C} = \left\{ \begin{array}{l} \overset{\wedge}{\mathbb{F}_C} = \frac{-1 \mathbb{F}_C}{\langle \circ \rangle \not\approx 1 \in \mathbb{F}_C} \\ \overset{\vee}{\mathbb{F}_C} = \frac{1 \mathbb{F}_C}{\langle \circ \rangle \not\approx 1 \in \mathbb{F}_C} \end{array} \right.$$

$$\begin{aligned}
 \mathbb{F}_C &= \left\{ \begin{array}{l} \mathbb{F}_C \blacktriangleleft \mathbb{F}_C \\ \mathbb{F}_C^\wedge \end{array} \right. = \left\{ \begin{array}{l} \mathbb{F}_C^\times \\ \mathbb{F}_C^\vee \end{array} \right. = \frac{\mathbb{F}_C^{\pm 1}}{\langle \circ \rangle \mathbb{F}_C^{\pm 1}} = \left\{ \begin{array}{l} \mathbb{F}_C^{\Delta} \\ \mathbb{F}_C^\nabla \end{array} \right. = \frac{\mathbb{F}_C^{-1}}{\langle \circ \rangle \mathbb{F}_C^{\pm 1}} \\
 &= \left\{ \begin{array}{l} \mathbb{F}_C^{\neq} \\ \mathbb{F}_C^\wedge \end{array} \right. = \frac{\mathbb{F}_C^{\pm 1}}{\langle \circ \rangle \mathbb{F}_C^{\pm 1}} = \left\{ \begin{array}{l} \mathbb{F}_C^{\wedge} \\ \mathbb{F}_C^\nabla \end{array} \right. = \frac{\mathbb{F}_C^{\pm 1}}{\mathbb{F}_C^{\pm 1}} = \frac{\mathbb{F}_C^{\pm 1}}{\langle \circ \rangle \mathbb{F}_C^{\pm 1}} \\
 &= \left\{ \begin{array}{l} \mathbb{F}_C \\ \mathbb{F}_C^\neq \end{array} \right. = \left\{ \begin{array}{l} \mathbb{F}_C \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \left\{ \begin{array}{l} \mathbb{F}_C^\circ \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \frac{\mathbb{F}_C^1}{\langle \circ \rangle \mathbb{F}_C^1} \\
 \mathbb{F}_C &= \left\{ \begin{array}{l} \mathbb{F}_C^\circ \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \left\{ \begin{array}{l} \mathbb{F}_C^\circ \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \frac{\mathbb{F}_C^{-1}}{\langle \circ \rangle \mathbb{F}_C^{\pm 1}} \\
 &= \left\{ \begin{array}{l} \mathbb{F}_C^\vee \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \left\{ \begin{array}{l} \mathbb{F}_C^\vee \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \frac{\mathbb{F}_C^1}{\langle \circ \rangle \mathbb{F}_C^{\pm 1}} \\
 &= \left\{ \begin{array}{l} \mathbb{F}_C^\circ \\ \mathbb{F}_C^\blacktriangleleft \end{array} \right. = \frac{\mathbb{F}_C^{\circ \blacktriangleleft}}{\mathbb{F}_C^{\pm 1}}
 \end{aligned}$$

$$\begin{aligned}
\mathbb{1}_{\mathbb{H}^n} &= \left\{ \begin{array}{l} \hat{\mathbb{1}}_{\mathbb{H}^n} \\ \mathbb{0}_{\mathbb{H}^n} \end{array} \right. = \frac{\mathbb{1}_{\mathbb{H}^n}}{\langle \mathbb{0} \rangle \ni \mathbb{1} \in \mathbb{0}_{\mathbb{H}^n}} \\
&= \text{bolic} \left\{ \begin{array}{l} \mathbb{0}_{\mathbb{H}^n} \\ \hat{\mathbb{1}}_{\mathbb{H}^n} \end{array} \right. = \frac{-\mathbb{1}_{\mathbb{H}^n}}{\langle \mathbb{0} \rangle \ni \mathbb{1} \in \mathbb{0}_{\mathbb{H}^n}}
\end{aligned}$$

$$\mathbb{0}_{\mathbb{H}^n} = \frac{\mathbb{0}_{\mathbb{H}^n}}{\mathbb{0}_{\mathbb{H}^n} \ni \mathbb{1} \notin \langle \mathbb{0} \rangle}$$

$$\hat{\mathbb{1}}_{\mathbb{H}^n} = \mathbb{0}_{\mathbb{H}^n} \blacktriangleleft \mathbb{1}_{\mathbb{H}^n}$$

$$\mathbb{0}_{\mathbb{H}^n} = \mathbb{0}_{\mathbb{H}^n} \blacktriangleleft \mathbb{1}_{\mathbb{H}^n}$$

$$\mathbb{0}_{\mathbb{H}^n} = \mathbb{0}_{\mathbb{H}^n} \blacktriangleleft \mathbb{1}_{\mathbb{H}^n}$$



